Answers from Week 9

- Irish music crossword

Answers

Down
i exaetly . When a group of musicians come

the same as aviclin together to play Irish musie it

. is enlled a
. ‘What instrument is alse used (n

traditional Greek music? 2. What instrument is hexagonal in shape?

. This is a very difficult instrument . What instrument has & holes
to master. It i played wsing and up to 8 keys?

your elbow and flagers! . .
. Tam very similar to an aceordion. T have

7. Many children in Ireland learm this buttons on either end of Yo Mave me
Lnstrument in primary school. in and out to produce sound. What am I?
. What instrument (s played with 9. This rurment is the officlal
o beater? It is sa e the emb f Ireland

heartbent of Irish music.

- Spellbound p68/69

WEEK 33 — GENERAL REVISION

PAGE 68 Ex. 1 1. whiteboard 2. birth 3. receipt 4. error 5. twitch (across) 5. tumble (down) 6. thorn 7. chalk 8. ointment
9. thousand 10. large 11. even 12. several (down) 12. Sir (across) 13. admit 14. carrot 15. noise 16. igloo
17. remind 18. telegraph

PAGE 69 Ex. 2 (a) favourite (b) wedding (c) attend (d) suitable (e) telegraph (f) deceive (g) almighty (h) thirteen
(1) unlikely (j) manage (k) plumber (I} February (m) raspberry (n) removal {0} violin (p) adult (q) yesterday
(r) steep (s) senior (t) ballad (u) impossible (v) middle




- Busy at Maths — Length p111-114

AN

a) %cm
b) 7om
<) 1iem
d) 2cm
@) Scm
f) 3cm
910
h)C

i) 8cm
DA

k) 37cm
) 27cm

e

a) 100cm
b) 50cm
c) 25cm
d) 7Scm
@) 10cm
f) 10cm
g) cm
h) S0cm
i) 30cm
J) SOcm
k) 00cm
1) 20cm
m) 200cm
n) 350cm
o) 270cm
p) 460cm

Challenge: (() 250cm
(i) 2m SOcm

L

a) 20cm « “fem « 02m
b) 80cm = "/.um « 0 8m
<) 20cm = fam « 07m
d) 90cm « "/ism « 05m
@) 23cm = */eam « 023m
f) 46cm « */em = 0460y
9} 78cm « " /rmtn « 0780
h) Bcm « *frem « 0-08m
) 13cm « "/oem =« 013m
) 30cm « "/um « 0-3m
k) 100cm = “/om = 1-0m
1) 9cm « “/seomn =« 0 09m

2.

a) 136cm « Im 36cm -
1 ®/wem = 1.36m

b) 182cm « Im 82cm =
1% em « 1182m

QNXme1Im ilom =
1 "/sam =« 117m

d) 190cm « 1m 90cm «
1 %um =« 19m

@) 106cm « Im 6cm =
1 */eem = 106m

f) 254cm « 2m S4cm =
2 " /sem = 254m

g) 250cm « 2m S0cm =
2"/om « 25m

h) 320cm « 3m 20cm «
23 um = 32m

1) 300cm « 3m 00cm «
3m«30m

)) &75cm = 4m 75cm -
4 ™/ oum = 475m

PAGE 113
1

fal &mi I0cmi
bl Frn 1dcm
b B 15cm
(i) & 48cm
(el Bmi 03cm
£l 8m S0cm

2.

fal 2m B%cm
{bj 3m 72cm
fic) Orn 39cm
i) 2rm F2cm
(] 1m 28om
() &mi BOcrn

3

(a] 342m + 152m = 5.14m
(b) 284m + 2-41m = 5235m
{ich 316m + 4-B6m = B-02m
() 4:26m + 25m = M&m
(] 5:3m + 1-8im = #11m
(f1 359m + 1-01m = 5-00m
(g 5-62m + 2:25m = F87m
(h) 3-07m # 1-39m = 4-36m
(b 2:75mi + 45m = Fa5m

4,

(a] 785m = 3:36m = 4-59m
(b 532m = 1-51m= 3&1Im
[} E-1%m = 4-3mi = 1-85m
(i) &50m = 3:22m = 528m
(] G-15m = 347m = 268m
(f) 903m = 51im = 35m
(g 5-08m = 152m = 35Im
() &-75%m = 2-88m = 3.85m
(i} 3-0%m = 270m = 037m

5
m  cm
3 ol
=1 &8
1 a4

&
m  <m
F LT
41 20
4 £
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1=

(&l 1424om == 1-44m
fbj 1250m = 125m
e} J2dcm = 234m
(dd 138cm = 1-38m
(&) 2080m == 208m
if] 234om == 234m

L.

(&l 231m
by 218m
{c} 50t
oy 1:24mi
(el 128m
] 10%m

Ig) Bddm
(h} 322m
[i] 45m
b 4-5m
Ik} 31cm
i 5&cm

3

[a) 13om
by 2cm
[} 15cm
[d} 18m

[ 18m

i 48m

&,

[a) 43cm
b} 23cm
[c} 14cm
[d} 25cm
[#) Zhem
Iy 17em
Ig) 12cm
[hj ¥eom
1) 15cm
Lj 14cm
[k} 1%cm
) 9om

5. M4om
. 55Bm

Challenge: & 28m







